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Principles of Quantum Mechanics
with
Solved Examples
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(Defeat of the Classical Physics)
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Postulates of Quantum Mechanics
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(The Schrodinger's Wave Equation and its Applications)
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(Operators Theory and Dirac's Brackets)
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(The Linear Harmonic Oscillator)
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(Hydrogen atom and Hydrogen-like atoms)
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( Linear Harmonic Oscillator Using Operator Theory Approach)
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(Spin Angular Momentum)

dxawnll Ol giall Juaall
YYY et A yall Lol Ao ol s )
\aa L3al dog ! L ol el B gaunll Sl | Y
Yé oAb clbgiine Y
0 Otpealy B3l syl |t
Yéa degin (LA 0
Yot dale (yylad 1
you Oye> e edlalaas | (10.A)




S LSOl e Ol

e (il Gl
Ll Lol 3l syl Lass

(Total Angular Momentum
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(Interaction of radiation with matter)
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